



## Degenerate polyexponential-Genocchi numbers and polynomials



Waseem A. Khan<sup>a,\*</sup>, Aysha Khan<sup>b</sup>, Idrees A. Khan<sup>c</sup>

<sup>a</sup>Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P.O. Box 1664, Al Khobar 31952, Saudi Arabia.

<sup>b</sup>Department of Mathematics, College of Arts and Science-Wadi Al dawasir, Prince Sattam Bin Abdulaziz University, Riyadh region 11991, Saudi Arabia.

<sup>c</sup>Department of Mathematics, Faculty of Science, Integral University, Lucknow 226026, India.

### Abstract

Recently, Kim et al. in [T. Kim, D. S. Kim, H. Y. Kim, L.-C. Jang, Informatica, 3 (2020), 8 pages] studied the degenerate poly-Bernoulli numbers and polynomials which are defined by using the polylogarithm function. In this paper, we study the degenerate polyexponential-Genocchi polynomials and numbers arising from polyexponential function and derive their explicit expressions and some identity involving them. In the final section, we introduce degenerate unipoly-Genocchi polynomials attached to an arithmetic function, by using polylogarithm function and investigate some identities for those polynomials.

**Keywords:** Polylogarithm function, degenerate poly-Bernoulli polynomials, degenerate poly-Genocchi polynomials, unipoly function.

**2020 MSC:** 11B83, 05A19, 65Q30.

©2021 All rights reserved.

### 1. Introduction

In 1905, Hardy considered the polyexponential function [9, 10] given by

$$e(x, a|s) = \sum_{n=0}^{\infty} \frac{x^n}{(n+a)^s n!}, \quad (\Re(a) > 0).$$

For  $k \in \mathbb{Z}$ , Kim and Kim [24] defined the modified polyexponential function, as an inverse to the polylogarithm function by

$$Ei_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k (n-1)!}. \quad (1.1)$$

It is worthy to note that  $e(x, 1|k) = \frac{1}{x} Ei_k(x)$  and  $Ei_1(x) = e^x - 1$ .

\*Corresponding author

Email addresses: [wkhan1@pmu.edu.sa](mailto:wkhan1@pmu.edu.sa) (Waseem A. Khan), [a.aysha@psau.edu.sa](mailto:a.aysha@psau.edu.sa) (Aysha Khan), [khanidrees077@gmail.com](mailto:khanidrees077@gmail.com) (Idrees A. Khan)

doi: [10.22436/jmcs.022.04.06](https://doi.org/10.22436/jmcs.022.04.06)

Received: 2020-06-22 Revised: 2020-07-22 Accepted: 2020-07-29

As is well known, the classical Euler and Genocchi polynomials are defined by (see [2–4, 7, 11, 15, 17, 19])

$$\frac{2}{e^z + 1} e^{uz} = \sum_{j=0}^{\infty} E_j(u) \frac{z^j}{j!}, \quad \frac{2z}{e^z + 1} e^{uz} = \sum_{j=0}^{\infty} G_j(u) \frac{z^j}{j!}. \quad (1.2)$$

In the case when  $u = 0$ ,  $E_j = E_j(0)$  and  $G_j = G_j(0)$  are respectively, called the Euler numbers and Genocchi numbers.

From (1.2), we see that

$$G_0(0) = 0, E_j(u) = \frac{G_{j+1}(u)}{j+1}, \quad (j \geq 0), \quad (\text{see [27]}).$$

For  $k \in \mathbb{Z}$ , Kim-Kim considered the type 2 poly-Bernoulli polynomials are defined by means of the following generating function

$$\frac{\text{Ei}_k(\log(1+t))}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n^{(k)}(x) \frac{t^n}{n!}, \quad (\text{see [14]}).$$

In the case when  $x = 0$ ,  $B_n^{(k)} = B_n^{(k)}(0)$  are called the type 2 poly-Bernoulli numbers.

For  $k \in \mathbb{Z}$ , the polylogarithm function is defined by

$$\text{Li}_k(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^k}, \quad (|x| < 1), \quad (\text{see, [12, 13, 16, 19, 30]}).$$

Note that

$$\text{Li}_1(x) = \sum_{n=1}^{\infty} \frac{x^n}{n} = -\log(1-x).$$

For any nonzero  $\nu \in \mathbb{R}$  (or  $\mathbb{C}$ ), the degenerate exponential function is defined by

$$e_{\nu}^{\xi}(z) = (1 + \nu z)^{\frac{\xi}{\nu}}, \quad e_{\nu}(z) = (1 + \nu z)^{\frac{1}{\nu}}, \quad (\text{see [20–25, 27–29]}).$$

By Taylor expansion, we see

$$e_{\nu}^{\xi}(z) = \sum_{q=0}^{\infty} (\xi)_{q,\nu} \frac{z^q}{q!}, \quad (\text{see [20, 24, 29, 31]}),$$

where  $(\xi)_{0,\nu} = 1$ ,  $(\xi)_{q,\nu} = \xi(\xi - \nu) \cdots (\xi - (q-1)\nu)$ ,  $(q \geq 1)$ .

Obviously

$$\lim_{\nu \rightarrow 0} e_{\nu}^{\xi}(z) = \sum_{q=0}^{\infty} \xi^q \frac{z^q}{q!} = e^{\xi z}.$$

In [5, 6], Carlitz considered the degenerate Bernoulli and degenerate Euler polynomials defined by

$$\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{\lambda}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!},$$

and

$$\frac{2}{(1 + \lambda t)^{\frac{1}{\lambda}} + 1} (1 + \lambda t)^{\frac{\lambda}{\lambda}} = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!}. \quad (1.3)$$

Putting  $x = 0$ ,  $\beta_{n,\lambda} = \beta_{n,\lambda}(0)$  and  $E_{n,\lambda} = E_{n,\lambda}(0)$  are called the degenerate Bernoulli and degenerate Euler numbers.

In [26], Kim et al. considered the the degenerate Genocchi polynomials given by

$$\frac{2z}{e_\lambda(z) + 1} e_\lambda^u(z) = \sum_{j=0}^{\infty} G_{j,\lambda}(u) \frac{z^j}{j!}. \quad (1.4)$$

In the case when  $u = 0$ ,  $G_{j,\lambda} = G_{j,\lambda}(0)$  are called the degenerate Genocchi numbers.

Very recently, Kim et al. [27] introduced the degenerate poly-Bernoulli polynomials defined by

$$\frac{Ei_k(\log(1+t))}{e_\lambda(t) - 1} e_\lambda^x(t) = \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}.$$

Here,  $\beta_{n,\lambda}^{(k)} = \beta_{n,\lambda}^{(k)}(0)$  are called the degenerate poly-Bernoulli numbers.

The Daehee polynomials [28] are defined by

$$\frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \quad (\text{see [19, 32]}).$$

When  $x = 0$ ,  $D_n = D_n(0)$  are called the Daehee numbers.

The degenerate Stirling numbers of the first kind [23] are defined by

$$\frac{1}{k!} (\log_\lambda(1+z))^k = \sum_{j=k}^{\infty} S_{1,\lambda}(j, k) \frac{z^j}{j!}, \quad (k \geq 0).$$

It is notice that

$$\lim_{\lambda \rightarrow 0} S_{1,\lambda}(j, k) = S_1(j, k),$$

are calling the Stirling numbers of the first kind given by

$$\frac{1}{k!} (\log(1+z))^k = \sum_{j=k}^{\infty} S_1(j, k) \frac{z^j}{j!}, \quad (k \geq 0), \quad (\text{see [24, 25]}).$$

The degenerate Stirling numbers of the second kind [21] are given by

$$\frac{1}{k!} (e_\lambda(z) - 1)^k = \sum_{j=k}^{\infty} S_{2,\lambda}(j, k) \frac{z^j}{j!}, \quad (k \geq 0), \quad (\text{see [1, 8]}).$$

Note here that

$$\lim_{\lambda \rightarrow 0} S_{2,\lambda}(j, k) = S_2(j, k),$$

standing for the Stirling numbers of the second kind given by means of the following generating function:

$$\frac{1}{k!} (e^z - 1)^k = \sum_{j=k}^{\infty} S_2(j, k) \frac{z^j}{j!}, \quad (k \geq 0), \quad (\text{see, [14, 15, 18, 20–32]}).$$

## 2. Degenerate polyexponential-Genocchi numbers and polynomials

In this section, we define degenerate Genocchi numbers and polynomials by using the degenerate polyexponential function which are called the degenerate polyexponential-Genocchi polynomials as follows,

$$\frac{2\text{Ei}_k(\log(1+t))}{e_\lambda(t)+1} e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}, \quad (k \in \mathbb{Z}). \tag{2.1}$$

For  $k = 1$ ,  $G_{n,\lambda}^{(1)}(x) = G_{n,\lambda}(x)$ , ( $n \geq 0$ ). Here,  $G_{n,\lambda}^{(k)} = G_{n,\lambda}^{(k)}(0)$  are called the degenerate polyexponential-Genocchi numbers.

From (1.2) and (2.1), we note that

$$\lim_{\lambda \rightarrow 0} G_{n,\lambda}^{(1)}(x) = G_n(x), \quad (n \geq 0).$$

**Theorem 2.1.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{n,\lambda}^{(k)}(x) = \sum_{m=0}^n \sum_{l=1}^{m+1} \binom{n}{m} \frac{S_1(m+1, l)}{l^{k-1}(m+1)} G_{n-m,\lambda}(x). \tag{2.2}$$

*Proof.* Using equations (1.1) and (2.1), we see that

$$\begin{aligned} \text{Ei}_k(\log(1+t)) &= \sum_{r=1}^{\infty} \frac{(\log(1+t))^r}{(r-1)!r^k} \\ &= \sum_{r=1}^{\infty} \frac{(\log(1+t))^r r!}{(r-1)!r^k r!} = \sum_{r=1}^{\infty} \frac{1}{r^{k-1}} \sum_{q=r}^{\infty} S_1(q, r) \frac{t^q}{q!} = \sum_{q=0}^{\infty} \sum_{r=1}^{q+1} \frac{S_1(q+1, r)}{r^{k-1}(q+1)} \frac{t^{q+1}}{q!}. \end{aligned} \tag{2.3}$$

By using equations (1.4) and (2.3), equation (2.1) is

$$\begin{aligned} \frac{2t}{e_\lambda(t)+1} e_\lambda^x(t) \frac{1}{t} \text{Ei}_k(\log(1+t)) &= \sum_{k=0}^{\infty} G_{k,\lambda}(x) \frac{t^k}{k!} \sum_{q=0}^{\infty} \sum_{r=1}^{q+1} \frac{S_1(q+1, r)}{r^{k-1}(q+1)} \frac{t^{q+1}}{q!}, \\ \text{L.H.S} &= \sum_{n=0}^{\infty} \left( \sum_{q=0}^n \sum_{r=1}^{q+1} \binom{n}{q} \frac{S_1(q+1, r)}{r^{k-1}(q+1)} G_{n-q,\lambda}(x) \right) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of  $t^n$  on both sides, we get the result (2.2). □

**Theorem 2.2.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{n,\lambda}^{(k)}(x) = \sum_{q=1}^n \binom{n}{q} \sum_{r=1}^q \frac{S_1(q, r)}{r^{k-1}} E_{n-q,\lambda}(x).$$

*Proof.* It is proved by using (1.3) and (2.1) that

$$\begin{aligned} \frac{2\text{Ei}_k(\log(1+t))}{e_\lambda(t)+1} e_\lambda^x(t) &= \frac{2}{e_\lambda(t)+1} e_\lambda^x(t) \text{Ei}_k(\log(1+t)) \\ &= \frac{2}{e_\lambda(t)+1} e_\lambda^x(t) \sum_{r=1}^{\infty} \frac{(\log(1+t))^r r!}{(r-1)!r^k r!} \\ &= \frac{2}{e_\lambda(t)+1} e_\lambda^x(t) \sum_{r=1}^{\infty} \frac{1}{r^{k-1}} \sum_{q=r}^{\infty} S_1(q, r) \frac{t^q}{q!} \end{aligned}$$

$$\begin{aligned}
 &= \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!} \sum_{q=1}^{\infty} \sum_{r=1}^q \frac{S_1(q,r) t^q}{r^{k-1} q!}, \\
 \text{L.H.S} &= \sum_{n=1}^{\infty} \left( \sum_{q=1}^n \binom{n}{q} \sum_{r=1}^q \frac{S_1(q,r)}{r^{k-1}} E_{n-q,\lambda}(x) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by (2.1) and above equation, we complete the proof. □

For the next theorem, we need the following well-known from ([7]) that

$$\left( \frac{t}{\log(1+t)} \right)^r (1+t)^{x-1} = \sum_{n=0}^{\infty} B_n^{(n-r+1)}(x) \frac{t^n}{n!}, \quad (r \in \mathbb{C}), \tag{2.4}$$

where  $B_n^{(r)}(x)$  are called the higher-order Bernoulli polynomials which are given by the generating function

$$\left( \frac{t}{e^t - 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}.$$

**Theorem 2.3.** For  $n \geq 0, k \in \mathbb{Z}$ , we have

$$\begin{aligned}
 G_{n,\lambda}^{(k)} &= \sum_{m=0}^n \binom{n}{m} \sum_{m_1+\dots+m_{k-1}=m} G_{n-m,\lambda}(x) \\
 &\times \binom{m}{m_1, \dots, m_{k-1}} \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \dots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+m_2+\dots+m_{k-1}+1}.
 \end{aligned}$$

*Proof.* To prove this section, we first consider the following expression

$$\begin{aligned}
 \frac{d}{dx} \text{Ei}_k(\log(1+x)) &= \frac{d}{dx} \sum_{n=1}^{\infty} \frac{(\log(1+x))^n}{(n+1)!n^k} \\
 &= \frac{1}{(1+x)\log(1+x)} \sum_{n=1}^{\infty} \frac{(\log(1+x))^n}{(n+1)!n^{k-1}} = \frac{1}{(1+x)\log(1+x)} \text{Ei}_{k-1}(\log(1+x)).
 \end{aligned} \tag{2.5}$$

From (2.5),  $k \geq 2$ , we have

$$\begin{aligned}
 \text{Ei}_k(\log(1+x)) &= \int_0^x \frac{1}{(1+t)\log(1+t)} \text{Ei}_{k-1}(\log(1+t)) dt \\
 &= \int_0^x \underbrace{\frac{1}{(1+t)\log(1+t)} \int_0^t \dots \frac{1}{(1+t)\log(1+t)} \int_0^t \frac{1}{(1+t)\log(1+t)}}_{k-2\text{-times}} \\
 &\quad \times \text{Ei}_1(\log(1+x)) dt \dots dt \\
 &= \int_0^x \underbrace{\frac{1}{(1+t)\log(1+t)} \int_0^t \dots \frac{1}{(1+t)\log(1+t)} \int_0^t \frac{t}{(1+t)\log(1+t)}}_{k-2\text{-times}} dt \dots dt.
 \end{aligned} \tag{2.6}$$

By (2.1), (2.6), and (2.4), we get

$$\sum_{n=0}^{\infty} G_{n,\lambda}^{(k)} \frac{x^n}{n!} = \frac{2\text{Ei}_k(\log(1+x))}{e_{\lambda}(x)+1} = \frac{2}{e_{\lambda}(x)+1}$$

$$\begin{aligned}
 & \times \underbrace{\int_0^x \frac{1}{(1+t)\log(1+t)} \int_0^t \cdots \frac{1}{(1+t)\log(1+t)} \int_0^t \frac{t}{(1+t)\log(1+t)} dt \cdots dt}_{k-2\text{-times}} \\
 &= \frac{2x}{e_\lambda(x) + 1} \\
 & \times \sum_{m=0}^\infty \sum_{m_1+\dots+m_{k-1}=m} \binom{m}{m_1, \dots, m_{k-1}} \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \cdots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+m_2+\dots+m_{k-1}+1} \frac{x^m}{m!} \\
 &= \sum_{n=0}^\infty \sum_{m=0}^n \binom{n}{m} \sum_{m_1+\dots+m_{k-1}=m} \binom{m}{m_1, \dots, m_{k-1}} G_{n-m,\lambda}(x) \\
 & \times \frac{B_{m_1}^{(m_1)}(0)}{m_1+1} \frac{B_{m_2}^{(m_2)}(0)}{m_1+m_2+1} \cdots \frac{B_{m_{k-1}}^{(m_{k-1})}(0)}{m_1+m_2+\dots+m_{k-1}+1} \frac{x^n}{n!}.
 \end{aligned}$$

Thus, we complete the proof. □

On setting  $k = 2$ , Theorem 2.3 gives the following result.

**Corollary 2.4.** For  $n \geq 0$ , we have

$$G_{n,\lambda}^{(2)} = \sum_{l=0}^n \binom{n}{l} \frac{B_l^{(l)}(0)}{l+1} G_{n-l,\lambda}.$$

**Theorem 2.5.** Let  $k \geq 1$  and  $m \in \mathbb{N} \cup \{0\}$ ,  $s \in \mathbb{C}$ , we have

$$\chi_{k,\nu}(-m) = (-1)^m G_{m,\nu}^{(k)}.$$

*Proof.* Let  $k \geq 1$  be an integer. For  $s \in \mathbb{C}$ , we define the function  $\chi_k(s)$  as

$$\chi_{k,\nu}(s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz. \tag{2.7}$$

From (2.7), we note that

$$\begin{aligned}
 \chi_{k,\nu}(s) &= \frac{1}{\Gamma(s)} \int_0^\infty \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz \\
 &= \frac{1}{\Gamma(s)} \int_0^1 \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz + \frac{1}{\Gamma(s)} \int_1^\infty \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz.
 \end{aligned} \tag{2.8}$$

The second integral converges absolutely for any  $s \in \mathbb{C}$  and hence, the second term on the right hand side vanishes at non-positive integers. That is,

$$\lim_{s \rightarrow -m} \left| \frac{1}{\Gamma(s)} \int_1^\infty \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz \right| \leq \frac{1}{\Gamma(-m)} M = 0. \tag{2.9}$$

On the other hand, for  $\Re(s) > 0$ , the first integral in (2.9) can be written as

$$\frac{1}{\Gamma(s)} \sum_{r=0}^\infty \frac{G_{r,\lambda}^{(k)}}{r!} \frac{1}{s+r},$$

which defines an entire function of  $s$ . Thus, we may include that  $\chi_k(s)$  can be continued to an entire function of  $s$ .

Further, from (2.8) and (2.9), we obtain

$$\begin{aligned} \chi_k(-m) &= \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \int_0^1 \frac{z^{s-1}}{e_\nu(z) + 1} \text{Ei}_k(\log(1+z)) dz \\ &= \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \int_0^1 z^{s-1} \sum_{r=0}^{\infty} \frac{G_r^{(k)} z^r}{r!} dz = \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \sum_{r=0}^{\infty} \frac{G_r^{(k)}}{s+r} \frac{1}{r!} \\ &= \dots + 0 + \dots + 0 + \lim_{s \rightarrow -m} \frac{1}{\Gamma(s)} \frac{1}{s+m} \frac{G_m^{(k)}}{m!} + 0 + 0 + \dots \\ &= \lim_{s \rightarrow -m} \frac{\left(\frac{\Gamma(1-s) \sin \pi s}{\pi}\right) G_m^{(k)}}{s+m} \frac{1}{m!} = \Gamma(1+m) \cos(\pi m) \frac{G_m^{(k)}}{m!} = (-1)^m G_m^{(k)}. \end{aligned}$$

Thus, we complete the proof of this theorem. □

**Theorem 2.6.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{m,\lambda}^{(k)} S_2(n, m) = \sum_{i=0}^n \sum_{r=0}^i \sum_{j=0}^r \binom{n}{i} \binom{i}{r} G_{j,\lambda} S_2(r, j) B_{i-r} \frac{1}{(n-i+1)^k}.$$

*Proof.* By replacing  $t$  by  $e^t - 1$  in (2.1), we get

$$\begin{aligned} \frac{2}{e_\lambda(e^t - 1) + 1} \text{Ei}_k(t) &= \sum_{m=0}^{\infty} G_{m,\lambda}^{(k)} \frac{1}{m!} (e^t - 1)^m \\ &= \sum_{m=0}^{\infty} G_{m,\lambda}^{(k)} \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left( \sum_{m=0}^n G_{m,\lambda}^{(k)} S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned} \tag{2.10}$$

On the other hand, we see that

$$\begin{aligned} \frac{2}{e_\lambda(e^t - 1) + 1} \text{Ei}_k(t) &= \frac{2(e^t - 1)}{e_\lambda(e^t - 1) + 1} \frac{1}{e^t - 1} \sum_{l=1}^{\infty} \frac{t^l}{(l-1)! l^k} \\ &= \frac{2(e^t - 1)}{e_\lambda(e^t - 1) + 1} \frac{t}{e^t - 1} \sum_{l=0}^{\infty} \frac{t^l}{(l+1)^k l!} \\ &= \sum_{j=0}^{\infty} G_{j,\lambda} \frac{1}{j!} (e^t - 1)^j \sum_{i=1}^{\infty} B_i \frac{t^i}{i!} \sum_{l=0}^{\infty} \frac{t^l}{(l+1)^k l!} \\ &= \sum_{r=0}^{\infty} \sum_{j=0}^r G_{j,\lambda} S_2(r, j) \frac{t^r}{r!} \sum_{i=0}^{\infty} B_i \frac{t^i}{i!} \sum_{l=0}^{\infty} \frac{t^l}{(l+1)^k l!} \\ &= \sum_{m=0}^{\infty} \left( \sum_{r=0}^i \sum_{j=0}^r \binom{i}{r} G_{j,\lambda} S_2(r, j) B_{i-r} \right) \frac{t^i}{i!} \sum_{n=0}^{\infty} \frac{t^n}{(n+1)^k n!}, \\ \text{L.H.S} &= \sum_{n=0}^{\infty} \left( \sum_{i=0}^n \sum_{r=0}^i \sum_{j=0}^r \binom{n}{i} \binom{i}{r} G_{j,\lambda} S_2(r, j) B_{i-r} \frac{1}{(n-i+1)^k} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.11}$$

When equating (2.10) and (2.11) gives desired proof. □

### 3. Degenerate unipoly-Genocchi polynomials and numbers

In this section, we define the degenerate unipoly-Genocchi polynomials by using the unipoly function and derive some multifarious properties.

Let  $p$  be any arithmetic function which is a real or complex valued function defined on the set of positive integers  $\mathbb{N}$ . Kim and Kim [24] defined the unipoly function attached to polynomials  $p(x)$  by

$$u_k(x|p) = \sum_{n=1}^{\infty} \frac{p(n)}{n^k} x^n, \quad (k \in \mathbb{Z}).$$

Moreover,

$$u_k(x|1) = \sum_{n=1}^{\infty} \frac{x^n}{n^k} = Li_k(x), \quad (\text{see [12]}),$$

is the ordinary polylogarithm function.

Now, we define the degenerate unipoly-Genocchi polynomials attached to polynomials  $p(x)$  by

$$\frac{2}{e_\lambda(t) + 1} u_k(\log(1+t)|p) e_\lambda^x(t) = \sum_{n=0}^{\infty} G_{n,\lambda,p}^{(k)}(x) \frac{t^n}{n!}. \tag{3.1}$$

In case when  $x = 0$ ,  $G_{n,\lambda,p}^{(k)} = G_{n,\lambda,p}^{(k)}(0)$  are called the degenerate unipoly-Genocchi numbers attached to  $p$ . If we take  $p(n) = \frac{1}{\Gamma(n)}$ , then we have

$$\sum_{n=0}^{\infty} G_{n,\frac{1}{\Gamma}}^{(k)}(x) \frac{t^n}{n!} = \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) u_k\left(\log(1+t) \middle| \frac{1}{\Gamma}\right) = \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{m^k(m-1)!}.$$

In particular, for  $k = 1$ , we obtain

$$\sum_{n=0}^{\infty} G_{n,\lambda,\frac{1}{\Gamma}}^{(1)}(x) \frac{t^n}{n!} = \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=1}^{\infty} \frac{(\log(1+t))^m}{m!} = \frac{2t}{e_\lambda(t) + 1} e_\lambda^x(t). \tag{3.2}$$

Therefore by (3.1) and (3.2), we have

$$G_{n,\lambda,\frac{1}{\Gamma}}^{(1)}(x) = G_{n,\lambda}(x), \quad (n \geq 0).$$

**Theorem 3.1.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{n,\lambda,p}^{(k)}(x) = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k} \frac{1}{l+1} G_{n-l,\lambda}(x).$$

Moreover,

$$G_{n,\lambda,\frac{1}{\Gamma}}^{(k)}(x) = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{1}{(m+1)^{k-1}} \frac{S_1(l+1, m+1)}{l+1} G_{n-l,\lambda}(x).$$

*Proof.* From (3.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} G_{n,\lambda,p}^{(k)}(x) \frac{t^n}{n!} &= \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) u_k(\log(1+t)|p) \\ &= \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=1}^{\infty} \frac{p(m)}{m^k} (\log(1+t))^m \end{aligned}$$



$$\begin{aligned}
 &= \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=0}^{\infty} \frac{p(m+1)}{(m+1)^k} (\log(1+t))^{m+1} \\
 &= \frac{2}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+1)^k} \sum_{l=m+1}^{\infty} S_1(l, m+1) \frac{t^l}{l!} \\
 &= \frac{2t}{e_\lambda(t) + 1} e_\lambda^x(t) \sum_{m=0}^{\infty} \frac{p(m+1)(m+1)!}{(m+1)^k} \sum_{l=m}^{\infty} \frac{S_1(l+1, m+1)}{l+1} \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} G_{n,\lambda}(x) \frac{t^n}{n!} \sum_{l=0}^{\infty} \left( \sum_{m=0}^l \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k (l+1)} \right) \frac{t^l}{l!}, \\
 \text{L.H.S} &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \frac{p(m+1)(m+1)! S_1(l+1, m+1)}{(m+1)^k (l+1)} G_{n-l,\lambda}(x) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Therefore, by comparing the coefficients of the same powers in  $t$  of above equation and (2.1), we obtain the desired result. □

**Theorem 3.2.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{n,\lambda,p}^{(k)}(x) = \sum_{m=0}^n \binom{n}{m} G_{m,\lambda,p}^{(k)}(x)_{n-m,\lambda}.$$

*Proof.* Recalling from (3.1) that

$$\begin{aligned}
 \sum_{n=0}^{\infty} G_{n,\lambda,p}^{(k)}(x) \frac{t^n}{n!} &= \frac{2}{e_\lambda(t) + 1} u_k(\log(1+t)|p) e_\lambda^x(t) \\
 &= \frac{2u_k(\log(1+t)|p)}{e_\lambda(t) + 1} \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!} \\
 &= \sum_{m=0}^{\infty} G_{m,\lambda,p}^{(k)} \frac{t^m}{m!} \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \\
 \text{L.H.S} &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} G_{m,\lambda,p}^{(k)}(x)_{n-m,\lambda} \right) \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients of  $\frac{t^n}{n!}$ , we complete the proof. □

**Theorem 3.3.** For  $n \geq 0$  and  $k \in \mathbb{Z}$ , we have

$$G_{n,\lambda,p}^{(k)} = \sum_{l=0}^n \sum_{m=0}^l \sum_{j=0}^{n-l} \binom{n-l}{j} \binom{n}{l} D_{n-j-l} G_{j,\lambda} \frac{p(m+1)m!}{(m+1)^k} S_1(l, m).$$

*Proof.* It is proved by using (3.1) that

$$\begin{aligned}
 \sum_{n=0}^{\infty} G_{n,\lambda,p}^{(k)} \frac{t^n}{n!} &= \frac{2}{e_\lambda(t) + 1} u_k(\log(1+t)|p) \\
 &= \frac{2}{e_\lambda(t) + 1} \sum_{m=1}^{\infty} \frac{p(m)}{m^k} (\log(1+t))^m \\
 &= \frac{2t}{e_\lambda(t) + 1} \frac{\log(1+t)}{t} \sum_{m=0}^{\infty} \frac{p(m+1)m! (\log(1+t))^m}{(m+1)^k m!}
 \end{aligned}$$

$$\begin{aligned}
&= \sum_{n=0}^{\infty} D_n \frac{t^n}{n!} \sum_{j=0}^{\infty} G_{j,\lambda} \frac{t^j}{j!} \sum_{m=0}^{\infty} \frac{p(m+1)m!}{(m+1)^k} \sum_{l=m}^{\infty} S_{1,\lambda}(l, m) \frac{t^l}{l!} \\
&= \sum_{n=0}^{\infty} D_n \frac{t^n}{n!} \sum_{j=0}^{\infty} G_{j,\lambda} \frac{t^j}{j!} \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \frac{t^l}{l!} \\
&= \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} D_{n-j} G_{j,\lambda} \frac{t^n}{n!} \sum_{l=0}^{\infty} \sum_{m=0}^l \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \frac{t^l}{l!} \\
\text{L.H.S} &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n \sum_{m=0}^l \sum_{j=0}^{n-l} \binom{n-l}{j} \binom{n}{l} D_{n-j-l} G_{j,\lambda} \frac{p(m+1)m!}{(m+1)^k} S_1(l, m) \right) \frac{t^n}{n!}.
\end{aligned}$$

Thus, we complete the proof of this theorem.  $\square$

#### 4. Conclusion

In this paper, we studied the degenerate polyexponential-Genocchi numbers and polynomials and derived explicit expressions and some identity involving them. In more detail, we obtained an expression of the degenerate polyexponential-Genocchi polynomials in terms of the degenerate Bernoulli polynomials and Stirling numbers of the first kind. We also deduced an expression of the degenerate polyexponential-Genocchi numbers in terms of the degenerate Bernoulli numbers and values of higher-order Bernoulli polynomials at zero. Also, we derived an identity involving the degenerate polyexponential-Bernoulli numbers, degenerate Stirling numbers of the second kind, and the degenerate Genocchi numbers. In the last section, we defined degenerate unipoly-Genocchi polynomials attached to arithmetic function by using the modified polyexponential function and obtained the identity degenerate unipoly-Genocchi numbers and polynomials in terms of Stirlings numbers of the first kind and Daehee numbers and Bernoulli numbers.

#### Acknowledgements

The author Aysha Khan express her thanks to the Deanship of Scientific Research (DSR), Prince Sattam bin Abdulaziz University, Saudi Arabia for providing facilities and support.

#### References

- [1] M. Acikgoz, U. Duran, *Unified degenerate central Bell polynomials*, J. Math. Anal., **11** (2020), 18–33. 1.5
- [2] S. Araci, *Novel identities for q-Genocchi numbers and polynomials*, J. Funct. Spaces Appl., **2012** (2012), 13 pages. 1
- [3] S. Araci, *Novel identities involving Genocchi numbers and polynomials arising from applications of umbral calculus*, Appl. Math. Comput., **233** (2014), 599–607.
- [4] S. Araci, M. Acikgoz, E. Sen, *On the von Staudt-Clausen's theorem associated with q-Genocchi numbers*, Appl. Math. Comput., **247** (2014), 780–785. 1
- [5] L. Carlitz, *A degenerate Staudt-Clausen theorem*, Arch. Math. (Basel), **7** (1956), 28–33. 1
- [6] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15** (1979), 51–88. 1
- [7] D. V. Dolgy, L.-C. Jang, D.-S. Kim, T.-K. Kim, J.-J. Seo, *Differential equations associated with higher-order Bernoulli numbers of the second kind revisited*, J. Anal. Appl., **14** (2016), 107–121. 1, 2
- [8] U. Duran, M. Acikgoz, *On generalized degenerate Gould-Hopper based fully degenerate Bell polynomials*, Iran. J. Math. Sci. Inf., **21** (2020), 243–257. 1.5
- [9] G. H. Hardy, *On the Zeroes Certain Classes of Integral Taylor Series: Part I. On the Integral Function Formula*, Proc. London Math. Soc. (2), **2** (1905), 332–339. 1
- [10] G. H. Hardy, *On the zeroes of certain classes of integral Taylor series: Part II. On the integral function formula and other similar functions*, Proc. London Math. Soc. (2), **2** (1905), 401–431. 1
- [11] H. Haroon, W. A. Khan, *Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials*, Commun. Korean. Math. Soc., **33** (2018), 651–669. 1
- [12] M. Kaneko, *Poly-Bernoulli numbers*, J. Théor. Nombres Bordeaux, **9** (1997), 221–228. 1.3, 3

- [13] W. A. Khan, *A note on degenerate Hermite poly-Bernoulli numbers and polynomials*, J. Class. Anal., **8** (2016), 65–76. 1.3
- [14] W. A. Khan, *Degenerate Hermite-Bernoulli numbers and polynomials of the second kind*, Prespacetime J., **7** (2016), 1297–1305. 1.3, 1.5
- [15] W. A. Khan, *A new class of degenerate Frobenius-Euler Hermite polynomials*, Adv. Stud. Contemp. Math., **30** (2018), 567–576. 1, 1.5
- [16] W. A. Khan, M. Ahmad, *Partially degenerate poly-Bernoulli polynomials*, Adv. Stud. Contemp. Math., **28** (2018), 487–496. 1.3
- [17] W. A. Khan, H. Haroon, *Some symmetric identities for the generalized Bernoulli, Euler and Genocchi polynomials associated with Hermite polynomials*, SpringerPlus, **5** (2016), 1–21. 1
- [18] W. A. Khan, I. A. Khan, M. Ali, *Degenerate Hermite poly-Bernoulli numbers and polynomials with  $q$ -parameter*, Stud. Univ. Babeş-Bolyai Math., **65** (2020), 3–15. 1.5
- [19] W. A. Khan, K. S. Nisar, U. Duran, M. Acikgoz, S. Araci, *Multifarious implicit summation formulae of Hermite-Based poly-Daehee polynomials*, Appl. Math. Inf. Sci., **12** (2018), 305–310. 1, 1.3, 1.5
- [20] T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc., **20** (2017), 319–331. 1.3, 1.5
- [21] T. Kim, W. A. Khan, S. K. Sharma, M. Ghayasuddin, *A note on parametric kinds of the degenerate poly-Bernoulli and poly-Genocchi polynomials*, Symmetry, **12** (2020), 16 pages. 1
- [22] D. S. Kim, T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse), **7** (2013), 5969–5976.
- [23] T. Kim, D. S. Kim, *Degenerate Laplace Transform and Degenerate Gamma Function*, Russ. J. Math. Phys., **24** (2017), 241–248. 1
- [24] D. S. Kim, T. Kim, *A note on polyexponential and unipoly functions*, Russ. J. Math. Phys., **26** (2019), 40–49. 1, 1.3, 1.5, 3
- [25] T. Kim, D. S. Kim, *Degenerate polyexponential functions and degenerate Bell polynomials*, J. Math. Anal. Appl., **487** (2020), 15 pages. 1.3, 1.5
- [26] T. Kim, D. S. Kim, D. V. Dolgy, J. Kwon, *Some identities on generalized degenerate Genocchi and Euler numbers*, Informatica, **31** (2020), 42–51. 1
- [27] T. Kim, D. S. Kim, H. Y. Kim, L.-C. Jang, *Degenerate poly-Bernoulli numbers and polynomials*, Informatica, **3** (2020), 8 pages. 1.3, 1
- [28] T. Kim, D. S. Kim, H. Y. Kim, S.-S. Pyo,  *$\lambda$ -analogues of Stirling polynomials of the first kind and their applications*, J. Inequal. Appl., **2019** (2019), 14 pages. 1
- [29] D. S. Kim, T. Kim, J. Kwon, H. Lee, *A note on  $\lambda$ -Bernoulli numbers of the second kind*, Adv. Stud. Contemp. Math. (Kyungshang), **30** (2020) (in press). 1.3
- [30] C. S. Ryoo, W. A. Khan, *On two bivariate kinds of poly-Bernoulli and poly-Genocchi polynomials*, Mathematics, **8** (2020), 18 pages. 1.3
- [31] S. K. Sharma, W. A. Khan, C. S. Ryoo, *A parametric kind of the degenerate Fubini numbers and polynomials*, Mathematics, **8** (2020), 13 pages. 1.3
- [32] Y. Simsek, *Identities on the Changhee numbers and Apostol-type Daehee polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **27** (2017), 199–212. 1.5